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General Marking Guidance

e All candidates must receive the same treatment. Examiners must mark
the first candidate in exactly the same way as they mark the last.

e Mark schemes should be applied positively. Candidates must be rewarded
for what they have shown they can do rather than penalised for
omissions.

e Examiners should mark according to the mark scheme not according to
their perception of where the grade boundaries may lie.

e There is no ceiling on achievement. All marks on the mark scheme should
be used appropriately.

¢ All the marks on the mark scheme are designed to be awarded. Examiners
should always award full marks if deserved, i.e. if the answer matches the
mark scheme. Examiners should also be prepared to award zero marks if
the candidate’s response is not worthy of credit according to the mark
scheme.

e Where some judgement is required, mark schemes will provide the
principles by which marks will be awarded and exemplification may be
limited.

e When examiners are in doubt regarding the application of the mark
scheme to a candidate’s response, the team leader must be consulted.

e Crossed out work should be marked UNLESS the candidate has replaced it
with an alternative response.

Although the assessment objectives are weighted separately, they are
inter-related.

AO1 requires informed insight and awareness of differing viewpoints,
and AOZ2 requires knowledge and understanding of the specification
content.
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Spelling, Punctuation and Grammar Marking Guidance

e The spelling, punctuation and grammar assessment criteria are common to
GCSE English Literature, GCSE History, GCSE Geography and GCSE
Religious Studies.

o All candidates, whichever subject they are being assessed on, must receive
the same treatment. Examiners must mark the first candidate in exactly the
same way as they mark the last.

e Spelling, punctuation and grammar marking criteria should be applied
positively. Candidates must be rewarded for what they have demonstrated
rather than penalised for errors.

e Examiners should mark according to the marking criteria. All marks on the
marking criteria should be used appropriately.

o All the marks on the marking criteria are designed to be awarded.
Examiners should always award full marks if deserved, i.e. if the answer
matches the marking criteria.

e Examiners should be prepared to award zero marks if the candidate’s
response is not worthy of credit according to the marking criteria.

¢ When examiners are in doubt regarding the application of the marking
criteria to a candidate’s response, the team leader must be consulted.

e Crossed out work should be marked unless the candidate has replaced it
with an alternative response.

¢ Handwriting may make it difficult to see if spelling, punctuation and
grammar are correct. Examiners must make every effort to assess spelling,
punctuation and grammar fairly and if they genuinely cannot make an
assessment, the team leader must be consulted.

e Specialist terms do not always require the use of complex terminology but
the vocabulary used should appropriate to the subject and the question.

¢ Work by candidates with an amanuensis, scribe or typed script should be
assessed for spelling, punctuation and grammar.

e Examiners are advised to consider the marking criteria in the following way:
o How well does the response communicate the meaning?
0 What range of specialist terms is used?
o0 How accurate is the spelling, punctuation and grammar?
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Unit 9: Christianity

Question | Correct Answer Partially Correct Answer | Reject Mark
Number
1 (a) o (belief in) one e belief in God 2
AO1 God e unity
Answers which
¢ the oneness of | Any alternative define a different
God wording of the above | key word
points is acceptable.
Any alternative (D) (0))

wording of the
above points is
acceptable.

(2)
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Question | Answer Mark

Number
1 (b) Indicative content 4
AO2 Answers which think Jesus is the Son of God are likely to use

such evidence as:

e Mary was told she would have God’s Son
e the creeds teach Jesus is the Son of God
¢ in the Bible God says Jesus is his Son

Answers which do not think Jesus is the Son of God are likely to
use such evidence as:

e Jesus did not say he was the Son of God

e God would have not allowed his son to suffer

¢ Mary gave birth to Jesus in the normal way

Other approaches are possible and must be marked
according to the levels. If you are unsure of the validity of an
answer, it must be sent to review.

Award marks as follows:
For a personal response with:
e one brief reason (e.g. God would have not allowed
his son to suffer)

1 mark

For a personal response with:
e two brief reasons
or one developed reason (e.g. God would have not
allowed his son to suffer and Jesus died a painful
death on the cross)

2 marks
For a personal response with:
e two reasons with one developed
3 marks
For a personal response with:
e two developed reasons
4 marks
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Question
Number

Indicative content
The quality of written communication will be assessed in this
answer (strands i, ii and iii)

1 (c)
AO1

The main ways include:

events to raise money for charities
lunch clubs for older people

visiting the sick

providing support for bereaved families

Other approaches are possible and must be marked according to the
levels. If you are unsure of the validity of an answer, it must be sent to
review.

Level

Mark

Descriptor

0

No rewardable material.

Level 1

1-2

Little understanding of the issue shown, typically by:

e (giving one way
The answer is likely to be in basic English. The skills needed to
produce effective writing will not normally be present. The writing
may have some coherence and will be generally comprehensible,
but lack both clarity and organisation. High incidence of
syntactical and/or spelling errors.

Level 2

Basic understanding of the issue is shown typically by:

e (giving two ways

e or a developed way
The candidate is likely to express understanding with a limited
command of English and little use of specialist vocabulary. The
range of skills needed to produce effective writing is likely to be
limited. There are likely to be passages which lack clarity and
proper organisation. Frequent syntactical and/or spelling errors
are likely to be present.

Level 3

5-6

A more developed understanding of the issue is shown typically
by:

e using three ways

e or a fully developed way

e or two ways with one developed
The candidate is likely to express understanding in a clear style
of English and some use of specialist vocabulary. The candidate
will demonstrate most of the skills needed to produce effective
extended writing but there will be lapses in organisation. Some
syntactical and/or spelling errors are likely to be present.

Level 4

7-8

A clear understanding of the issue is shown typically by:

e using four ways
or two developed ways
or two ways, one brief and one fully developed
or three ways with one developed
or a comprehensive way
The candidate is likely to express understanding in a clear and
correct style of English with a correct use of specialist vocabulary
where appropriate. The skills needed to produce convincing
extended writing in place. Good organisation and clarity. Very
few syntactical and/or spelling errors may be found. Excellent




| \ organisation and planning.
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Question | Answer Mark

Number
1(d) Indicative content
AO2 Reasons for supporting this statement could be:

e it shows that God is omnipotent

e it shows that there is a purpose to the world’s existence

e Christians accept the scientific explanation but believe God
is behind it all

Reasons for not supporting this statement could be:
¢ scientific evidence proves God did not create the world
o fossils show that humans evolved over millions of years
e the account of creation in the Bible is a myth

Other approaches are possible and must be marked
according to the levels. If you are unsure of the validity of an
answer, it must be sent to review.

Award marks as follows:

Candidates who do not refer to Christianity in either (i) or (ii)
cannot go beyond 3 marks for the whole of (d).

(i) Own opinion
1 mark for 3
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason
(i) Why some people may disagree with their opinion
1 mark for 3
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
o three simple reasons
e or two developed reasons
e or a fully developed reason
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Question 1 Spelling, Punctuation and Grammar
(a, b, c, d)

0] Errors severely hinder the meaning of the
marks | response or candidates do not spell, punctuate
or use the rules of grammar within the context
of the demands of the question.

Threshold Level 1 mark | Candidates spell, punctuate and use the rules of
performance | 1 grammar with reasonable accuracy in the
context of the demands of the question.

Any errors do not hinder meaning in the
response. Where required, they use a limited
range of specialist terms appropriately.

Intermediate | Level 2-3 Candidates spell, punctuate and use the rules of
performance | 2 marks | grammar with considerable accuracy and
general control of meaning in the context of the
demands of the question.

Where required, they use a good range of
specialist terms with facility.

High Level 4 Candidates spell, punctuate and use the rules of
performance | 3 marks | grammar with consistent accuracy and

effective control of meaning in the context of
the demands of the question.

Where required, they use a wide range of
specialist terms adeptly and with precision.
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Question
Number

Correct Answer

Partially Correct
Answer

Reject

Mark

2 (a)
AO1

o firm belief
without (logical)
proof

e unqguestioning
belief in God

e complete trust in
a supernatural
being

Alternative wording
of the above points
is acceptable.

(2)

¢ an example of

a religion
e trusting

e Dbelieving

Any alternative
wording of the
above points is
acceptable.

€

Answers which
define a
different key
word

)

ALWAYS LEARNING PEARSON




Question | Answer Mark

Number
2 (b) Indicative content 4
AO2 Answers which think Christians should always ‘love their

neighbour * are likely to use such reasons as:

= it is the second part of the Greatest Commandment

= the world would be a better place if everyone did

« the parable of the Good Samaritan teaches Christians to love
their neighbour

Answers which do not think Christians should always’ love their
neighbour’ are likely to use such reasons as:

= some people do not deserved to be loved

= love of God is more important

* people should look after themselves

Other approaches are possible and must be marked
according to the levels. If you are unsure of the validity of an
answer, it must be sent to review.

Award marks as follows:

For a personal response with:
e one brief reason (e.g. the parable of the Good
Samaritan teaches Christians to ‘love their neigbour’)

1 mark
For a personal response with:
e two brief reasons
e or one developed reason (e.g. the parable of the
Good Samaritan teaches Christians to ‘love their
neighbour’ and Jesus said to go and do likewise)

2 marks
For a personal response with:
¢ two reasons with one developed
3 marks
For a personal response with:
¢ two developed reasons
4 marks
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Questio | Indicative content
n The quality of written communication will be assessed in this
Number | answer (strands i, ii and iii)
2 (©) . .
AO1L The main reasons include:
e the Trinity helps Christians to understand the different
ways God has shown himself to the world
e the Trinity is a key teaching of the Church
e at Jesus’ baptism the Trinity is shown
¢ when Jesus commissioned the disciples he referred to
the Trinity
Other approaches are possible and must be marked according to the
levels. If you are unsure of the validity of an answer, it must be sent to
review.
Level Mar | Descriptor
k
0 No rewardable material.
Level 1 | 1-2 | Little understanding of the features shown, typically by:
e (giving a brief reason
e not explaining but only describing the feature.
The answer is likely to be in basic English. The skills needed to
produce effective writing will not normally be present. The writing
may have some coherence and will be generally comprehensible,
but lack both clarity and organisation. High incidence of syntactical
and/or spelling errors.
Level 2 | 3-4 | Basic understanding of the features is shown typically by:
e using two brief reasons
e or a developed reason.
The candidate is likely to express understanding with a limited
command of English and little use of specialist vocabulary. The
range of skills needed to produce effective writing is likely to be
limited. There are likely to be passages which lack clarity and
proper organisation. Frequent syntactical and/or spelling errors
are likely to be present.
Level 3 | 5-6 | A more developed understanding of the features is shown typically
by:
e using three brief reasons
e or a fully developed reason
e or two reasons with one developed.
The candidate is likely to express understanding in a clear style of
English and some use of specialist vocabulary. The candidate will
demonstrate most of the skills needed to produce effective
extended writing but there will be lapses in organisation. Some
syntactical and/or spelling errors are likely to be present.
Level 4 | 7-8 | A clear understanding of the features is shown typically by:

e using four brief reasons

or two developed reasons

or two reasons, one bried and one fully developed

or three reasons with one developed

or a comprehensive explanation using one reason only.




The candidate is likely to express understanding in a clear and
correct style of English with a correct use of specialist vocabulary
where appropriate. The skills needed to produce convincing
extended writing in place. Good organisation and clarity. Very few
syntactical and/or spelling errors may be found. Excellent
organisation and planning.
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Question | Answer Mark
Number
2 (d) L
AO2 Indicative content
Reasons for supporting this statement could be:
e Christians hear the Gospel in church
e baptism into the Church washes away sin
¢ Roman Catholics need to go to confession to achieve
salvation
Reasons for not supporting this statement could be:
e salvation is achieved by leading a good Christian life
e salvation comes through the death of Jesus
¢ the Holy Spirit saves people from sin
Reasons for not supporting this statement could be:
Other approaches are possible and must be marked
according to the levels. If you are unsure of the validity of an
answer, it must be sent to review.
Award marks as follows:
Candidates who do not refer to Christianity in either (i) or (ii)
cannot go beyond 3 marks for the whole of (d).
(i) Own opinion 3
1 mark for
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
¢ three simple reasons
e or two developed reasons
e or a fully developed reason
(i) Why some people may disagree with their opinion 3
1 mark for
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
e three simple reasons
or two developed reasons
e or a fully developed reason
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Question 2 Spelling, Punctuation and Grammar
(a, b, c, d)

0] Errors severely hinder the meaning of the
marks | response or candidates do not spell, punctuate
or use the rules of grammar within the context
of the demands of the question.

Threshold Level 1 mark | Candidates spell, punctuate and use the rules of
performance | 1 grammar with reasonable accuracy in the
context of the demands of the question.

Any errors do not hinder meaning in the
response. Where required, they use a limited
range of specialist terms appropriately.

Intermediate | Level 2-3 Candidates spell, punctuate and use the rules of
performance | 2 marks | grammar with considerable accuracy and
general control of meaning in the context of the
demands of the question.

Where required, they use a good range of
specialist terms with facility.

High Level 4 Candidates spell, punctuate and use the rules of
performance | 3 marks | grammar with consistent accuracy and

effective control of meaning in the context of
the demands of the question.

Where required, they use a wide range of
specialist terms adeptly and with precision.
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Question
Number

Correct Answer

Partially Correct
Answer

Reject

Mark

3 ()
AO1

e (National)
Churches that
are in union
with the
Patriarch of

Constantinople
(e.g. the Russian
Orthodox Churches)

e the Christian
Church of those
countries
formerly from
the Eastern
Roman Empire

e national
Churches in the
East

Any alternative
wording of the
above points is
acceptable.

(@)

e an example of
an Orthodox
Church

e a Church that
split from the Catholic
Church

¢ the Eastern
Church

e the Churches
from Russia
and Greece

e a Church
created after
the East/West split

Any alternative
wording of the
above points is
acceptable.

)

Answers which
define a
different key
word

0)
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Question | Answer Mark
Number

3 (b) Indicative content 4
AO2 Answers which think Roman Catholic priests should be able

to marry are likely to use such evidence as:
e married priests are better at dealing with family issues
e the Bible does not say priests should not marry
¢ marriage is part of the Christian life

Answers which do not think Roman Catholic priests should
be able to marry are likely to use such evidence as:
o the priest will be distracted by family life
e it is the tradition of the Roman Catholic Church
e priests should follow the example of Jesus who was
not married

Other approaches are possible and must be marked
according to the levels. If you are unsure of the validity of
an answer, it must be sent to review.

Award marks as follows:

For a personal response with:
e one brief reason (e.g. married priests are better at
dealing with family issues)

1 mark
For a personal response with:
e two brief reasons
e or one developed reason (e.g. married priests are

better at dealing with family issues, for example a couple

who are having marriage problems would feel more
comfortable talking to a married priest)

2 marks
For a personal response with:
¢ two reasons with one developed
3 marks
For a personal response with:
¢ two developed reasons
4 marks
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Question
Number

Indicative content
The quality of written communication will be assessed in this
answer (strands i, ii and iii)

3 (0)
AO1

The main reasons include:

¢ the Church teaches the same message taught by the
apostles

¢ the Church today is still led by Jesus through his chosen
successors

e the authority of St Peter has been passed down to the
current Pope

¢ the Church can update Catholic teachings

Other approaches are possible and must be marked according to the
levels. If you are unsure of the validity of an answer, it must be sent to
review.

Level

Mark | Descriptor

0] No rewardable material.

Level 1

1-2 | Little understanding of the features shown, typically by:

e (giving a brief reason

¢ not explaining but only describing the feature.
The answer is likely to be in basic English. The skills needed to
produce effective writing will not normally be present. The writing
may have some coherence and will be generally comprehensible,
but lack both clarity and organisation. High incidence of
syntactical and/or spelling errors.

Level 2

3-4 | Basic understanding of the features is shown typically by:

e using two brief reasons

e or a developed reason.
The candidate is likely to express understanding with a limited
command of English and little use of specialist vocabulary. The
range of skills needed to produce effective writing is likely to be
limited. There are likely to be passages which lack clarity and
proper organisation. Frequent syntactical and/or spelling errors
are likely to be present.

Level 3

5-6 | A more developed understanding of the features is shown
typically by:

e using three brief reasons

e or a fully developed reason

e or two reasons with one developed.
The candidate is likely to express understanding in a clear style
of English and some use of specialist vocabulary. The candidate
will demonstrate most of the skills needed to produce effective
extended writing but there will be lapses in organisation. Some
syntactical and/or spelling errors are likely to be present.

Level 4

7-8 | A clear understanding of the features is shown typically by:
using four brief reasons

or two developed reasons

or two reasons, one brief and one fully developed

or three reasons with one developed

or a comprehensive explanation using one reason only.
The candidate is likely to express understanding in a clear and




correct style of English with a correct use of specialist vocabulary
where appropriate. The skills needed to produce convincing
extended writing in place. Good organisation and clarity. Very
few syntactical and/or spelling errors may be found. Excellent
organisation and planning.
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Question | Answer Mark
Number

3 (d) Indicative content

AO2 Reasons for supporting this statement could be:

¢ the Bible must come directly from God as there is a unity

in the message
e Jesus referred to the Jewish scriptures as the “Word of
God”

o through personal experience people believe it is the direct

Word of
God

Reasons for not supporting this statement could be:
e science has shown the Bible to be wrong
¢ there are contradictions in the Bible
o the Bible has many different authors

Other approaches are possible and must be marked
according to the levels. If you are unsure of the validity of an
answer, it must be sent to review.

Award marks as follows:

Candidates who do not refer to Christianity in either (i) or (ii)
cannot go beyond 3 marks for the whole of (d).

(i) Own opinion
1 mark for
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
o three simple reasons
e or two developed reasons
e or a fully developed reason
(i) Why some people may disagree with their opinion
1 mark for
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
o three simple reasons
or two developed reasons
o or a fully developed reason
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Question | Correct Answer Partially Correct Reject Mark

Number Answer
4 (a) Answers which | 2
AO1 ¢ making e being a priest define a

someone a different key

priest (by the e Dbeing ordained | word

sacrament of

holy orders) e a sacrament (0)

e receiving the
sacrament of

holy orders Any alternative
wording of the
e becoming a above point is
priest acceptable.

€

Any alternative
wording of the
above points is
acceptable.

(2)
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Question | Answer Mark

Number
4 (b) Indicative content 4
AO2 Answers which think the Church should have authority for

all Christians today are likely to use such evidence as:
e the Church’s teachings come from the apostles
e the Holy Spirit guides the Church today
o the Pope is the successor to St Peter

Answers which do not think the Church should have authority
for all Christians today are likely to use such evidence as :

e Christians should be guided by what the Bible says

e Christians should be guided by their conscience

e the Church has not always done the right thing

Other approaches are possible and must be marked
according to the levels. If you are unsure of the validity of
an answer, it must be sent to review.

Award marks as follows:

For a personal response with:
e one brief reason (e.g. the Church’s teachings
come from the apostles)

1 mark
For a personal response with:
e two brief reasons
e or one developed reason (e.g. the Church’s teachings
come from the apostles so Christians should accept
them if they wish to live as Jesus wanted them to)

2 marks
For a personal response with:
¢ two reasons with one developed
3 marks
For a personal response with:
¢ two developed reasons
4 marks
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Question | Indicative content
Number | The quality of written communication will be assessed in this
answer (strands i, ii and iii)
4 (c) : :
AO1L The main ways include :
e leads worship in the church
o celebrates baptisms and marriage
e preaches about the Christian faith
e gives spiritual advice
Other approaches are possible and must be marked according to the
levels. If you are unsure of the validity of an answer, it must be sent to
review.
Level Mark | Descriptor
0 No rewardable material.
Level 1 | 1-2 | Little understanding of the issue shown, typically by:
e (giving one way
The answer is likely to be in basic English. The skills needed to
produce effective writing will not normally be present. The writing
may have some coherence and will be generally comprehensible,
but lack both clarity and organisation. High incidence of
syntactical and/or spelling errors.
Level 2 | 3-4 | Basic understanding of the issue is shown typically by:
e (giving two ways
e or a developed way
The candidate is likely to express understanding with a limited
command of English and little use of specialist vocabulary. The
range of skills needed to produce effective writing is likely to be
limited. There are likely to be passages which lack clarity and
proper organisation. Frequent syntactical and/or spelling errors
are likely to be present.
Level 3 | 5-6 | A more developed understanding of the issue is shown typically
by:
e using three ways
e or a fully developed way
e or two ways with one developed
The candidate is likely to express understanding in a clear style
of English and some use of specialist vocabulary. The candidate
will demonstrate most of the skills needed to produce effective
extended writing but there will be lapses in organisation. Some
syntactical and/or spelling errors are likely to be present.
Level 4 | 7-8 | A clear understanding of the issue is shown typically by:

e using four ways

or two developed ways

or two ways, one brief and one fully developed

or three ways with one developed

or a comprehensive way

The candidate is likely to express understanding in a clear and
correct style of English with a correct use of specialist vocabulary
where appropriate. The skills needed to produce convincing
extended writing in place. Good organisation and clarity. Very




few syntactical and/or spelling errors may be found. Excellent
organisation and planning.
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Question
Number

Answer

Mark

4 (d)
AO2

Indicative content

Reasons for supporting this statement could be:
e Mary lived a sinless life
e Mary had an immaculate conception
e Mary was specially chosen by God

Reasons for not supporting this statement could be:
¢ Mary was just human
e some Christians do not accept such beliefs as the
Assumtption
e Mary is only a role model

Other approaches are possible and must be marked
according to the levels. If you are unsure of the validity of an
answer, it must be sent to review.

Award marks as follows:

Candidates who do not refer to Christianity in either (i) or (ii)
cannot go beyond 3 marks for the whole of (d).

(i) Own opinion
1 mark for
e asimple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
o three simple reasons
e or two developed reasons
e or a fully developed reason
(i) Why some people may disagree with their opinion
1 mark for
e asimple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
o three simple reasons
e or two developed reasons
e or a fully developed reason
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up to Easter

e from Ash
Wednesday to
Easter

e the time before
Easter when
Christians give
up something

e the liturgical
period leading
to Easter

Any alternative
wording of the
above points is
acceptable.

(2)

e the time Jesus
spent in the
wilderness

e preparing for
Easter

o days before
Easter

Any alternative
wording of the
above point is
acceptable.

(€

word

0)

Question | Correct Answer Partially Correct Reject Mark
Number Answer
5 () Answers which 2
AO1 o the 40 days e fasting define a

leading different key
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Question | Answer Mark

Number
5 (b) Indicative Content 4
AO2 Answers which think Christmas is no longer a religious

celebration are likely to use such evidence as:
e it is too commercialised
e many people do not know the meaning of the Christmas
story
¢ today there are many non-relgious elements

Answers which do not think Christmas is no longer a religious
celebration are likely to use such reasons as:

e most Christians still attend Christmas services

e it celebrates the birth of Christ

¢ many children take part in nativity plays

Other approaches are possible and must be marked
according to the levels. If you are unsure of the validity of an
answer, it must be sent to review.

Award marks as follows:

For a personal response with:
e one brief reason (e.g. many people do not know the
meaning of the Christmas story)

1 mark
For a personal response with:
e two brief reasons
e or one developed reason (e.g. many people do not know
the meaning of the Christmas story and do not understand
the incarnation)

2 marks
For a personal response with:
e two reasons with one developed
3 marks
For a personal response with:
e two developed reasons
4 marks
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Question
Number

Indicative content
The quality of written communication will be assessed in this
answer (strands i, ii and iii)

5(c)
AO1

The main reasons include:

the altar is where the priest prepares the Eucharist
confessionals show the importance of the sacrament of
reconciliation

the font shows the importance of baptism

the stations of the cross tell the story of Jesus’ suffering and
death

Other approaches are possible and must be marked according to the
levels. If you are unsure of the validity of an answer, it must be sent to
review.

Level

Mark

Descriptor

0

No rewardable material.

Level 1

1-2

Little understanding of the features shown, typically by:

e (giving a brief reason

¢ not explaining but only describing the feature.
The answer is likely to be in basic English. The skills needed to
produce effective writing will not normally be present. The writing
may have some coherence and will be generally comprehensible,
but lack both clarity and organisation. High incidence of
syntactical and/or spelling errors.

Level 2

Basic understanding of the features is shown typically by:

e using two brief reasons

e or a developed reason.
The candidate is likely to express understanding with a limited
command of English and little use of specialist vocabulary. The
range of skills needed to produce effective writing is likely to be
limited. There are likely to be passages which lack clarity and
proper organisation. Frequent syntactical and/or spelling errors
are likely to be present.

Level 3

5-6

A more developed understanding of the features is shown
typically by:

e using three brief reasons

e or a fully developed reason

e or two reasons with one developed.
The candidate is likely to express understanding in a clear style
of English and some use of specialist vocabulary. The candidate
will demonstrate most of the skills needed to produce effective
extended writing but there will be lapses in organisation. Some
syntactical and/or spelling errors are likely to be present.

Level 4

7-8

A clear understanding of the features is shown typically by:

e using four brief reasons

e or two developed reasons

e or two reasons, one brief and one fully developed

e or three reasons with one developed

e or a comprehensive explanation using one reason only.
The candidate is likely to express understanding in a clear and




correct style of English with a correct use of specialist vocabulary
where appropriate. The skills needed to produce convincing
extended writing in place. Good organisation and clarity. Very
few syntactical and/or spelling errors may be found. Excellent
organisation and planning.
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Question
Number

Answer

Mark

5(d)
AO2

Indicative content

Reasons for supporting this statement could be:
¢ the Eucharist remembers the Last Supper
e Jesus said, “Do this in memory of me”
e the bread and wine are simply symbols

Reasons for not supporting this statement could be:
e the bread and wine become the body of Jesus
e Jesus is a real presence during the Mass
e the Eucharist is a sacrament

Other approaches are possible and must be marked
according to the levels. If you are unsure of the validity of an
answer, it must be sent to review.

Award marks as follows:
Candidates who do not refer to Christianity in either (i) or (ii)
cannot go beyond 3 marks for the whole of (d).

(i) Own opinion
1 mark for
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
o three simple reasons
e or two developed reasons
e or a fully developed reason
(i) Why some people may disagree with their opinion
1 mark for
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason
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e worship led by
the Holy Spirit

Any alternative
wording of the
above points is
acceptable.

(2)

Charismatic
worship (e.g.
speaking in tongues)

Any alternative
wording of the
above point is
acceptable.

A1)

Question | Correct Answer Partially Correct Reject Mark
Number Answer
6 (a) 2
AO1 e worship e lively worship
involving Answers which
spiritual gifts e spontaneous define a different
(such as worship key word
speaking
in tongues and ¢ any example of (0))
healing) the practice of
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Question | Answer Mark
Number

6 (b) L 4
AO2 Indicative content

Answers which think it is important for Roman
Catholics to go to Mass are likely to include:
e the Eucharist is one of the sacraments
¢ they are instructed to attend by the Church
e it is a celebration of the resurrection of Jesus

Answers which do not think it is important for Roman
Catholics to go to Mass are likely to include:
e it is a direct personal relationship with
God that is important
e people can live spiritual lives without the
sacraments
e Jesus did not command people to go to
Mass

Other approaches are possible and must be marked
according to the levels. If you are unsure of the validity of an
answer, it must be sent to review.

Award marks as follows:

For a personal response with:
e one brief reason (e.q. it is a celebration of
the resurrection of Jesus)

1 mark

For a personal response with:
e two brief reasons
e or one developed reason ( e.g. it is a celebration
of resurrection of Jesus and it shows Roman
Catholics that they too could receive eternal life)

2 marks
For a personal response with:
¢ two reasons with one developed
3 marks
For a personal response with:
¢ two developed reasons
4 marks
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Question | Indicative content
Number | The quality of written communication will be assessed in this
answer (strands i, ii and iii)
6 (¢) . .
AO1L The main reasons include:
e it celebrates the resurrection of Jesus
e it gives Christians the hope that death is not the end
e it shows that Jesus is still alive
e it shows that Jesus is still working through the Church
e it proves that Jesus is the Son of God
Other approaches are possible and must be marked according to the
levels. If you are unsure of the validity of an answer, it must be sent to
review.
Level Mark | Descriptor
0 No rewardable material.
Level 1 | 1-2 | Little understanding of the issue shown, typically by:
e (giving a brief reason
e not explaining but only describing the issue.
The answer is likely to be in basic English. The skills needed to
produce effective writing will not normally be present. The writing
may have some coherence and will be generally comprehensible,
but lack both clarity and organisation. High incidence of
syntactical and/or spelling errors.
Level 2 | 3-4 | Basic understanding of the issue is shown typically by:
e using two brief reasons
e or a developed reason.
The candidate is likely to express understanding with a limited
command of English and little use of specialist vocabulary. The
range of skills needed to produce effective writing is likely to be
limited. There are likely to be passages which lack clarity and
proper organisation. Frequent syntactical and/or spelling errors
are likely to be present.
Level 3 | 5-6 | A more developed understanding of the issue is shown typically
by:
e using three brief reasons
e or a fully developed reason
e or two reasons with one developed.
The candidate is likely to express understanding in a clear style
of English and some use of specialist vocabulary. The candidate
will demonstrate most of the skills needed to produce effective
extended writing but there will be lapses in organisation. Some
syntactical and/or spelling errors are likely to be present.
Level 4 | 7-8 | A clear understanding of the issue is shown typically by:

e using four brief reasons

or two developed reasons

or two reasons, one brief and one fully developed

or three reasons with one developed

or a comprehensive explanation using one reason only.
The candidate is likely to express understanding in a clear and
correct style of English with a correct use of specialist vocabulary




where appropriate. The skills needed to produce convincing
extended writing in place. Good organisation and clarity. Very
few syntactical and/or spelling errors may be found. Excellent
organisation and planning.
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Question
Number

Answer

Mark

6 (d)
AO2

Indicative content
Reasons for supporting this statement could be:
e Jesus was baptised as an adult
e the person should understand the meaning of the
sacrament
o faith should be a matter of personal commitment

Reasons for not supporting this statement could be:
¢ infant baptism welcomes the child into the Church
¢ infant baptism cleanses a child of original sin
e godparents will encourage the child to follow a
Christian life

Other approaches are possible and must be marked
according to the levels. If you are unsure of the validity of
an answer, it must be sent to review.

Award marks as follows:

Candidates who do not refer to Christianity in either (i) or
(ii) cannot go beyond 3 marks for the whole of (d).

(i) Own opinion
1 mark for
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
o three simple reasons
e or two developed reasons
e or a fully developed reason
(i) Why some people may disagree with their opinion
1 mark for
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason
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Question
Number

Correct Answer

Partially Correct
Answer

Reject

Mark

7 ()
AO1

e the life of
prayer (and
meditation)
lived by some
religious orders

e a religious order
that separates
itself from
society

¢ monks or nuns
who spend their
time in prayer

o life of prayer in
seclusion from
outside world

Any alternative
wording of the
above points is
acceptable.

2)

e an example of
a
contemplative
order (e.g.
Carmelites)

e aclosed
religious
community

e a life of prayer

Any alternative
wording of the
above points is
acceptable.

€

Answers which
define a different
key word

)
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Question | Answer Mark

Number
7 (b) Indicative content 4
AO2 Answers which think that Christians should show their vocation

through their work are likely to use such reasons as:
e it allows Christians to demonstrate their Christian values
e it shows their love of God
e some careers allow Christians to spread the word of God

Answers which do not think that Christians should show their
vocation through their work are likely to use such reasons as:
e Christians should not display their religion
e it may cause offence to other faiths
e some Christians do not work

Other approaches are possible and must be marked
according to the levels. If you are unsure of the validity of an
answer, it must be sent to review.

Award marks as follows:

For a personal response with:
e one brief reason (e.g. it allows Christians to
demonstrate their Christian values)

1 mark

For a personal response with:
e two brief reasons
e one developed reason (e.g. it allows Christians
to demonstrate their Christian values, for
example a doctor showing compassion)

2 marks
For a personal response with:
e two reasons with one developed
3 marks
For a personal response with:
e two developed reasons
4 marks
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Question | Indicative content
Number | The quality of written communication will be assessed in this
answer (strands i, ii and iii)
7 (©) The main ways include:
AO1 e praying in private
e not making a show of giving to charity
¢ only doing things to please God not others
¢ not being a hypocrite
Other approaches are possible and must be marked according to the
levels. If you are unsure of the validity of an answer, it must be sent to
review.
Level Mark | Descriptor
0 No rewardable material.
Level 1 | 1-2 | Little understanding of the issue shown, typically by:
e (giving one way
The answer is likely to be in basic English. The skills needed to
produce effective writing will not normally be present. The writing
may have some coherence and will be generally comprehensible,
but lack both clarity and organisation. High incidence of
syntactical and/or spelling errors.
Level 2 | 3-4 | Basic understanding of the issue is shown typically by:
e (giving two ways
e or a developed way
The candidate is likely to express understanding with a limited
command of English and little use of specialist vocabulary. The
range of skills needed to produce effective writing is likely to be
limited. There are likely to be passages which lack clarity and
proper organisation. Frequent syntactical and/or spelling errors
are likely to be present.
Level 3 | 5-6 | A more developed understanding of the issue is shown typically
by:
e using three ways
e or a fully developed way
e or two ways with one developed
The candidate is likely to express understanding in a clear style
of English and some use of specialist vocabulary. The candidate
will demonstrate most of the skills needed to produce effective
extended writing but there will be lapses in organisation. Some
syntactical and/or spelling errors are likely to be present.
Level 4 | 7-8 | A clear understanding of the issue is shown typically by:

e using four ways

or two developed ways

or two ways, one brief and one fully developed

or three ways with one developed

or a comprehensive way

The candidate is likely to express understanding in a clear and
correct style of English with a correct use of specialist vocabulary
where appropriate. The skills needed to produce convincing
extended writing in place. Good organisation and clarity. Very
few syntactical and/or spelling errors may be found. Excellent




| \ organisation and planning.
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Question
Number

Answer

Mark

7 (d)
AO2

Indicative content
Reasons for supporting this statement could be:
e Jesus taught Christians to “love your neighbour”
e St Paul taught that all people are equal in Christ
¢ Christians have a responsibility to make society a
better place

Reasons for not supporting this statement could be:
e some Christians will choose to pray for others instead
e some Christians are not able to work in this way
¢ it might not be their vocation

Other approaches are possible and must be marked
according to the levels. If you are unsure of the validity of an
answer, it must be sent to review.

Award marks as follows:

Candidates who do not refer to Christianity in either (i) or (ii)
cannot go beyond 3 marks for the whole of (d).

(i) Own opinion
1 mark for
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
e three simple reasons
e or two developed reasons
e or a fully developed reason
(i) Why some people may disagree with their opinion
1 mark for
e a simple reason
2 marks for
o a developed reason
e or two simple reasons
3 marks for
o three simple reasons
e or two developed reasons
o or a fully developed reason
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and obedience

e the promises
taken by a
monk/nun

2)

Any alternative
wording of the
above

points is acceptable.

lives

= any one/two
examples of the vows

e VOWS

€

Any alternative
wording of the
above

point is acceptable.

key word
©)

Question | Correct Answer Partially Correct Reject Mark
Number Answer

8 (a) (the vows of) Answers which 2
AO1 poverty,chastity * how a monk/nun define a different
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Question | Answer Mark
Number

8 (b) Indicative content 4
AO2 Answers which think all Christians should help those that suffer

in the UK are likely to use such reasons as:
e it is a way of following the Golden Rule
e it is a way they can show their faith
e it is following Jesus’ example

Answers which do not think all Christians should help those that

suffer in the UK are likely to use such reasons as:
¢ some think the need is greater in other countries
e giving help to people can make them dependent
e some choose to lead a contemplative life

Other approaches are possible and must be marked
according to the levels. If you are unsure of the validity of an
answer, it must be sent to review.

Award marks as follows:

For a personal response with:
e one brief reason (e.g. it is following Jesus’ example)

1 mark
For a personal response with:
e two brief reasons
e or one developed reason (e.q. it is following Jesus’
example Jesus healed the sick)

2 marks
For a personal response with:
e two reasons with one developed
3 marks
For a personal response with:
¢ two developed reasons
4

marks
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Question
Number

Indicative content
The quality of written communication will be assessed in this
answer (strands i, ii and iii)

8 (©)
AO1

The main reasons include:

God gave the Ten Commandments

some of the commandments show Christians how they can love
others

some of the commandments can be applied to modern day
issues

by keeping the commandments it shows respect for God

Other approaches are possible and must be marked according to the
levels. If you are unsure of the validity of an answer, it must be sent to
review.

Level

Mark

Descriptor

0

No rewardable material.

Level 1

1-2

Little understanding of the issue shown, typically by:

e (giving a brief reason

e not explaining but only describing the issue.
The answer is likely to be in basic English. The skills needed to
produce effective writing will not normally be present. The writing
may have some coherence and will be generally comprehensible,
but lack both clarity and organisation. High incidence of
syntactical and/or spelling errors.

Level 2

3-4

Basic understanding of the issue is shown typically by:

e using two brief reasons

e or a developed reason.
The candidate is likely to express understanding with a limited
command of English and little use of specialist vocabulary. The
range of skills needed to produce effective writing is likely to be
limited. There are likely to be passages which lack clarity and
proper organisation. Frequent syntactical and/or spelling errors
are likely to be present.

Level 3

A more developed understanding of the issue is shown typically
by:

e using three brief reasons

e or a fully developed reason

e or two reasons with one developed.
The candidate is likely to express understanding in a clear style
of English and some use of specialist vocabulary. The candidate
will demonstrate most of the skills needed to produce effective
extended writing but there will be lapses in organisation. Some
syntactical and/or spelling errors are likely to be present.

Level 4

7-8

A clear understanding of the issue is shown typically by:

using four brief reasons

or two developed reasons

or two reasons, one brief and one fully developed

or three reasons with one developed

or a comprehensive explanation using one reason only.
The candidate is likely to express understanding in a clear and




correct style of English with a correct use of specialist vocabulary
where appropriate. The skills needed to produce convincing
extended writing in place. Good organisation and clarity. Very
few syntactical and/or spelling errors may be found. Excellent
organisation and planning.

ALWAYS LEARNING PEARSON



Question | Answer Mark
Number

8 (d) ) .

AO2 Indicative content

Reasons for supporting this statement could be:
e God is the only one who can judge others
¢ Jesus taught you should not judge others
¢ Christians should focus on being a good Christian
before criticising others

Reasons for not supporting this statement could be:
e it is natural to judge others
e judgement is necessary in daily life
¢ the courts need to judge people

Other approaches are possible and must be marked
according to the levels. If you are unsure of the validity of an
answer, it must be sent to review.

Award marks as follows:

Candidates who do not refer to Christianity in either (i) or (ii)
cannot go beyond 3 marks for the whole of (d).

(i) Own opinion
1 mark for
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
o three simple reasons
e or two developed reasons
e or a fully developed reason
(i) Why some people may disagree with their opinion
1 mark for
e a simple reason
2 marks for
e a developed reason
e or two simple reasons
3 marks for
o three simple reasons
e or two developed reasons
o or a fully developed reason
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